

$$\log_n^m = a$$

$$\log_{mn}^{mr} = b \rightarrow b = \frac{\log_n^{mr}}{\log_n^{mn}} \Rightarrow \frac{\log_n^{mr} + \log_n^1}{\log_n^m + \log_n^n} = \frac{r \log_n^m + 1}{\log_n^m + 1} = \frac{ra + 1}{a + 1}$$

$$b = \frac{r(a+1)-1}{a+1} = r - \frac{1}{a+1} \Rightarrow r - \frac{1}{a+1} = 1 < b < 2 \Rightarrow [b] = 1$$

$$y = \sqrt{\frac{x}{\log x}} \rightarrow \text{مربعی} \geq 0 \text{ و } \log x > 0 \Rightarrow x > 0$$

$$\Rightarrow x > 0$$

$$\log_{\frac{1}{r}} x = 0 \rightarrow x = \frac{1}{r} \rightarrow x \neq 1 \rightarrow x < \frac{1}{r}$$

$$y = \log_k(x^2 - x - 2) > 0 \Rightarrow (x-2)(x+1) > 0 \rightarrow x > 2 \text{ یا } x < -1$$

$$\sqrt{x^2 - 1} + 1 \geq 0 \rightarrow x^2 - 1 \geq 0 \rightarrow x^2 \geq 1 \rightarrow x \geq 1 \text{ یا } x \leq -1$$

$$\Rightarrow D = (-\infty, -1) \cup (2, +\infty)$$

$$r \log_x^a + \log_a^{\sqrt{x}} = r \rightarrow r \log_a^a + \log_a^r = r \rightarrow \log_a^r + \log_a^r = r \rightarrow \frac{1}{\log_a^r} = r \rightarrow \log_a^r = \frac{1}{r}$$

$$\Rightarrow t + \frac{1}{t} = r \rightarrow \frac{t^2 + 1}{t} = r \rightarrow t^2 - rt + 1 = 0 \rightarrow t = 1 \rightarrow \log_a^r = 1 \rightarrow a = r^1 \Rightarrow a = r$$

$$\log r = -0.3 \text{ و } \log 3 = 0.4 \rightarrow \log 5 = \log 10 - \log 2 = 1 - 0.3 = 0.7$$

$$[\log_r^a] x^r + (\log_a^r) x - \log_a^1 = 0 \rightarrow \log_r^a \rightarrow r \log_r^a = r(0.4) = 0.8$$

$$\log_a^1 - \log_r^a = 0.7 - 0.4 = 0.3 \rightarrow -\log_a^1 = -(\log_r^a + \log_a^1) = -1.1$$

$$3x^2 + 11x - 11 = 0 \rightarrow x_1 = 1 \text{ و } x_2 = \frac{c}{a} = \frac{-11}{3} \Rightarrow 1 - (-\frac{11}{3}) = \frac{r+11}{3} = \frac{14}{3}$$

$$\log_r^v = 2.8 \text{ و } \log_a^r = 0.5 \rightarrow \frac{1}{\log_a^r} = \frac{1}{0.5} = 2 = \log_a^a$$

$$\log_{\frac{1}{r}}^h = ? \rightarrow \log_r^1 = \frac{\log_r^{(r \times h)}}{\log_r^{(r \times v)}} = \frac{\log_r^r + \log_r^h}{\log_r^r + \log_r^v} = \frac{1 + r}{1 + 2.8} = \frac{r}{2.8 \times 1.1} = \frac{r}{3.08} = \frac{10}{19} \approx 0.526$$

$$\log_{\mu}^{\omega} = 1,2 \quad , \quad \log_{\nu}^{\tau} = 1,4 \rightarrow \frac{1}{\log_{\nu}^{\tau}} = \frac{1}{1,4} \stackrel{x_{11}}{=} \frac{1}{1,4} = 0,7142 = \log_{\nu}^{\tau}$$

$$\log_{10}^4 = ? \rightarrow \frac{\log_r^4}{\log_r^{10}} = \frac{\log_r^r + 1}{\log_r^{\Delta} + 1} = \frac{0,47\Delta + 1}{1, \Delta + 1} = \frac{1,47\Delta}{1, \Delta + 1} \times 1 \dots = \frac{172\Delta}{172\Delta + 1} = \frac{4\Delta}{1 \dots} = (0,4\Delta)$$

$$\begin{aligned} \log_r^n &= m \rightarrow \log_{r^m}^n \rightarrow m \Rightarrow \frac{1}{r} \log_r^n = m \rightarrow \log_r^n = \frac{r \cdot m}{1} \\ \log_r^r &\rightarrow \frac{\log_r^r}{\log_r^r} = \frac{\log_r^r}{r} = \frac{\log_r^r}{r} = \frac{\log_r^r + \log_r^r}{r} \\ &\rightarrow \frac{r + \log_r^r}{r} = \frac{r + \left(\frac{r \cdot m - 1}{r}\right)}{r} = \frac{r + r \cdot m - 1}{r} = \frac{r \cdot m + r}{r} \end{aligned}$$

$$\begin{aligned} \frac{r}{1-r} \cdot \frac{r}{a} &= \left(\frac{1}{a} \right)^{rx-1} \Rightarrow \left(\frac{r}{a} \right)^{rx-1} = \left(\frac{a}{r} \right)^{rx-1} \Rightarrow \left(\frac{a}{r} \right)^{rx-1} = \left(\frac{a}{r} \right)^{rx} \\ \text{Log}_\Lambda &\Rightarrow \text{Log}_\Lambda^f \rightarrow \text{Log}_{\frac{r}{a}}^f = \frac{r}{a} \text{Log}_\Lambda^f = \left(\frac{r}{a} \right) \\ &\Rightarrow rx-1 = rx \Rightarrow rx = 1 \Rightarrow x = \frac{1}{r} \end{aligned}$$

$$\begin{aligned} \log_r b &= \frac{r}{r} (1+a) \quad , \quad \log_r r = a \\ \log(rb - 1) &\rightarrow \cancel{\frac{1}{r}} \log_r b = \cancel{\frac{r}{r}} (1+a) \rightarrow \log_r b = \underbrace{r(1+a)}_{r(1+\log_r r)} \rightarrow r(\log_r r) \Rightarrow \\ &\rightarrow \log_r (1 \cdot r - 1) = \log_r r = \textcircled{r} \end{aligned}$$

$$-f a x^r + b x + \frac{1}{4} c = 0 \rightarrow \frac{1}{s} = \log r, \quad b + c = r a \rightarrow \frac{r a \pm b + c}{a} \Rightarrow r = \frac{b + c}{a}$$

$$\left[\frac{1}{\sqrt{r}} \right]^{\frac{c}{a}} \Rightarrow r^{\frac{1}{a}} \times r^{\frac{1}{a}} \times r^{\frac{1}{a}} = r^{\frac{1}{a}} = \frac{1}{\sqrt{r}} = \frac{1}{\sqrt{r}}$$

$$\Rightarrow s = -\frac{b}{-r a} = \frac{b}{r a} \rightarrow \log r = \frac{1}{\frac{b}{r a}} \Rightarrow \log r = \frac{r a}{b} \Rightarrow r^{\log r} = \frac{r a}{b} \rightarrow \frac{1}{r} \times \frac{1}{\log r} = \frac{a}{b}$$

$$\frac{b}{a} = r \log \frac{1}{r}, \quad \frac{c}{a} = r - r \log \frac{1}{r} \Rightarrow r - r \log \frac{1}{r} = \frac{c}{a} \Rightarrow \frac{c}{a} = -r \log \frac{1}{r}$$